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BREEBRER SHEEED1/2% B 5D (50Ba/keiB)
No| ETHE B | 2% | & |"ES| % | zowm 5z | 2% | & |"NRS] x| zow
1| ®8m 156 56 14 1 10 7 68 19 1 18
2 | REFEWTH 6 6 0
3| BB 71 14 3 1 4 6 43 15 1 1 13
4| LvbhEm 74 12 8 1 3 50 21 21
5| BT 6 6 3 3
6| EEH 8 2 1 5 5 5
1| BEZAT 8 8 5 5
8| MEEM 20 7 2 1 10 1 1
9| —AKWH 72 45 1 5 21 2 2
10| H¥TH 7 2 2 3 1 1
1| mEET 79 45 9 7 1 17 4 1 3
12| fREH 28 9 1 2 16 1 1
13| XEW 20 16 1 3 0
4]  RITET 35 10 4 1 20 7 7
15| ERHAT 1 1 0
16| JIRHET 8 3 1 4 3 1 2
17|  KEH 70 49 2 10 9 0
18| ERHAT 1 1 0
19  REFH 31 25 3 3 0
20|  TFHRET 1 1 0
21| IRk A 0 0
2| RRE 0 0
23| FAREH 3 3 0
24| JLIBIRH 0 0
25| FEEEE 0 0
26| BEBHET 1 1 1 1
27| FEEAET 52 39 1 12 0
28| =iEIRTHET 0 0
2|  BHIIF 0 0
30|  #EET 1 1 0
31 =Bfr 2 2 0
32|  #LET 0 0
33|  ERFIAE 0 0
34| RIEXHET 1 1 0
35| FEERAE 26 21 5 2 2
36|  SRIFH 5 4 1 0
31| hEH 1 1 1 1
38| ZKMRHET 8 4 1 3 1 1
39|  HASHET 2 2 1 1
40|  RERHET 24 7 1 1 15 2 2
41 AT 76 40 1 6 2 27 1 1
2| &R 31 15 1 4 11 0
43|  AJIET 2 1 1 0
44| E)IF 12 9 1 2 0
45|  FAK 20 2 18 1 1
46|  RJIET 0 0
47| HERET 6 2 1 3 3 1 2
48| =FKHET 60 26 5 29 5 5
49| INERET 6 6 3 3
50| JREFHET 20 14 4 1 1 1 1
I E ) 10 1 9 6 6
52| AT 0 0
53| JIIINAE 32 12 2 18 3 3
54|  KEERT 0 0
55|  JNEEAT 0 0
56| RSIHET 16 5 2 2 7 5 2 1 2
57| BEHN 2 1 1 0
58|  FrHbET 6 5 1 0
50| BREEAT 2 2 0
INET 1,129 505 55 3 71 23 472 123 1 5 0 6 0 111
EEE 4 EC] 1] 1 [ [ 0] [ [
| &% [ 1.130] 506 55 | 3 71 ] 23 472 123] 1 5 | 0 6 | 0 111
sEERRCLEH
BiLRERER] 390 188 24 1 28 7 142 32 1 0 0 1 0 30
BRRERERN] 224 83 4 1 16 7 113 33 0 1 0 3 0 29
BEREREAN] 179 91 1 0 9 7 71 11 0 0 0 0 0 11
LRERREN 71 41 1 0 0 1 28 6 0 0 0 0 0 6
ASHERBER 4 0 0 0 0 0 4 0 0 0 0 0 0 0
HREEREN] 187 90 17 0 15 1 64 20 0 4 0 2 0 14
WhEREREN 74 12 8 1 3 0 50 21 0 0 0 0 0 21
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